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(Group-III)
(Applied Economics)
BUSINESS STATISTICS
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Note :
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Attempt all the five questions. One question from each Unit is
compulsory. All questions carry equal marks. Log table and graph
paper will be supplied on demand. onlineBU. (‘0]11
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“The science of statistics, then is a most useful scrvant, but only the

great value to those who understarid its proper use. " Comment on the

above statement and discuss the limitations of statistics.
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Find mean, median and mode from the following data :

Marks : 0-10 1020 20-30 3040  40-50
Frequency 4 23 27 21 15
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Find standard deviation and its coefficient from the following data :

No. of Persons 8 12 15 7 5 3
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Calculate Karl Pearson’s coefficient of skewness from the following data :

Mark (More than) : 0 10 20 30 40 50 60 70 80
No. of Students : 150 140 100 80 8 70 30 14 o
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‘What do you mean by regression? How does it differ from correlation?
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Calculate Karl Pearson’s coefficient of correlation :
A : 4446 46 48 52 54 54 55
B . 3640 427 40 2 44 46 g o N
Take deviations from actual mean 52 and 44 respectively, "
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1 2 10 5 75
2 - 16 8 40
3 1 10 2 24
4 5 25 10 60
Construct Fisher’s Index Number from the followi ing data :
Item . Base Year Current Year
Err:::te per “é‘otﬂl . Pri?e per Total
o] : l;csltx)«mdltun': Unit Expenditure
: h : (Rs.) (Rs.)
10 5 - 75
2 4
| 16 8 40
3 1 10
Al " 2 v . i
| 10 60
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Describe seasonal varia
determine these variation?
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tion in a Time-Series? What are methods ©

w1 frder 2oy T 4 SR i I

What is meant by ‘Business Forecasting’? Discuss the utility of business
forecasting. onlineBU.com ;
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There are 5 red and 5 black balls in a bag. Four balls are taken at random.

Find the probability that :
(i)  All are black balls.
(ii) One is black and 3 arc red balls.
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